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EEEEENAEE R, EEREEE) EEEE, REHE=E3E5REE, 5 [xis a multiple of
3.] 8 [xis a multiple of 5.] ; BUHEUERIFE3ZESRIEE, 55 [xisamultiple of 3and 5.] ; INHHEYHE
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55 is a multiple of 5.
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36 is a multiple of 3.

15 is a multiple of 3 and 5.

TQC+ X EESPyvthon 204 EffiE S

BB

BERRENMEE R, EEEER) WEESE. b, REBEN—EWEETF (+. - " L L %)
. BHEBERENER.

E TP
30
20
il

S gt 1




TQC+ 2B =Python 206 FE 4R F

EEZ=S:

EEAEENIAES IS, REERISE ) NSSETHENEE. BENTEIT:
a ¥ ER

80~100 A

70~79

B
60~69 C
F

<= 59

TN
79

Ll T

TOC+ X BE=Pyvthon 208 +#HENIEE

= E=HER :
EEREEMAEE e, EERESE ) —EHECEEENUM0 = num = 15), FEnumESIERtFIER
=

2 EIRRE = HELO-9HNENERERS, HEM10-1587SEMERAF.,

[a=]

VTN

‘
[

SofilEg 1

‘

(=]

g2

‘

gefiEg 2

‘



TQC+ 32N E S Python 210 = B H R

EEHA

EEAEENAERE—EN, BEEREE) CEER BEE-EERESULMER—E=AF. L,
dEdiZz=—mzE& S58F [Invaid] .

Fm: BENE - AEmEERZENAREDER,

RN

SEIEIH 1
Invalid
seflEIN2
1
1

1

sepilEe 2




